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Botany: The Living World, Zoology: Animal Kingdom 

Chemistry: Some Basic Concepts of Chemistry, Physics: Units & Measurements  

 
1. Match the columns 

A) Planaria I) Binary fission 

B) Amoeba II) Budding 

C) Yeast III) True regeneration 

D) Fungi IV) Asexual spores 

1) A-IV, B-III, C-II, D-I 

2) A-II, B-IV, C-I, D-III 

3) A-III, B-I, C -II, D-IV 

4) A-I, B-IV, C-III, D-II 

 

2. Which of the following is not a defining feature of 

living organisms? 

1) Metabolism 

2) Cellular organization 

3) Reproduction 

4) Consiousness 

 

3. The lowest category in both plant and animal kingdom 

is ___ 

1) Genus 

2) Species 

3) Family 

4) Order 

 

4. identify file correct sequence of taxonomic categories 

in Linnaeus hierarchy 

1) Phylum – Order – Class – Family – Genus – 

Species 

2) Division – Order – Class – Family – Genus – 

Species 

3) Class – Division – Order – Family – Genus – 

Species 

4) Phylum – Class – Order – Family – Genus – 

Species 

 

5. Find the correct match 

1) Felidae - Order 

2) Gymnospermae - Sub class 

3) Arthropoda - Class 

4) Poales - Order 

 

6. From the list of animals given below, how many have 

cellular level of organisation? 

Euspongia, Hydra, Sycon, Spongilla, Aurelia, 

Adamsia 

1) Six 

2) Three 

3) Four 

4) Two 

 

 

1. gpd;tUtdtw;iw nghUj;Jf 

A) gpsNdupah I) ,Urk gpsTWjy; 
B) mkPgh II) nkhl;LtpLjy; 
C) <];l; III) kPSUthf;fk; 
D) G+Q;ir IV) ghypd tpj;Jfs; 
1) A-IV, B-III, C-II, D-I 

2) A-II, B-IV, C-I, D-III 

3) A-III, B-I, C -II, D-IV 

4) A-I, B-IV, C-III, D-II 

 

2. gpd;tUtdtw;wpy; vJ capupdq;fspd; tiuaWf;Fk; 
gz;G my;y? 
1) tsu;rpij khw;wk; 
2) nry;Yyhu; mikg;G 

3) ,dg;ngUf;fk; 
4) #ky; czu;T 

 

3. jhtu kw;Wk; tpyq;F cyfk; ,uz;bYk; Fiwe;j 

gbepiy ___ 

1) Ngupdk; 
2) ,dq;fs; 
3) FLk;gk; 
4) thpir 

 

4. ypd;Nda]; gbepiyapy; tifgpupj;jy; tiffspd; 
Nfhg;gpdpy; rupahd tupiria milahsk; fhzTk; 
1) njhFjp - thpir- tFg;G - FLk;gk; - Nghpdk; - 

rpw;wpdq;fs; 
2) gpupT - thpir- tFg;G - FLk;gk; - Nghpdk; - 

rpw;wpdq;fs; 
3) tFg;G - gpupT - thpir- FLk;gk; - Nghpdk; - 

rpw;wpdq;fs; 
4) /igyk; - tFg;G - thpir- FLk;gk; - Nghpdk; - 

rpw;wpdq;fs; 
 

5. rupahdijf; fz;lwpaTk; 
1) /ngypNl - thpir 

2) [pk;Ndh];ngu;Nk - Jiz tFg;G 

3) Mu;j;NuhNghlh - tFg;G 

4) Poales - thpir 
 

6. fPNo nfhLf;fg;gl;Ls;s tpyq;Ffspd; 
gl;baypypUe;J> vj;jid nry;Yyhu; epiy mikg;G 
cs;sJ? 
Euspongia, Hydra, Sycon, Spongilla, Aurelia, 

Adamsia 

1) MW 

2) %d;W 

3) ehd;F 

4) ,uz;L 
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7. Select the animal that is a living fossil and have 

segmented body. 

1) Limulus 

2) Bombyx 

3) Apteryx 

4) Pinctada 

 

8. The excretory organ in an animal which has a 

rudimentary structure in its collar region that is 

similar to notochord, is 

1) Integumentary nephridia 

2) Proboscis gland 

3) Antennal gland 

4) Septal nephridia 

 

9. Choose the mismatch. 

Feature        Example 

1) Bilateral symmetry - Pterophyllum 

2) Suckers  - Fasciola 

3) Ctenoid scales  - Scoliodon 

4) Free-living  - Asterias 

 

10. Read the given statements and select the correct 

option. 

Statement-A: Cyclostomes do not possess jaws and 

paired fins. 

Statement-B: All fishes have gills covered by an 

operculum 

1) Both statements (A) and (B) are correct 

2) Both statements (A) and (B) are incorrect 

3) Only statement (A) is correct 

4) Only statement (B) is correct 

 
11. The number of significant figures in 50 pens is 

1) Infinite 

2) 2 

3) Zero 

4) 1 

 

12. One kilogram of electrons represents ___ mole of 

electrons. (me = mass of one electron in kg) 

1) 
N𝐴

𝑚𝑒
 

2) me NA 

3) 
1

𝑚𝑒N𝐴
 

4) 
𝑚𝑒

N𝐴
 

 

13. 20 ml of O2 and 50 ml of H2 are taken in a vessel and 

sparked till the reaction is completed to form H2O(l). 

Assuming temperature and pressure constant, the 

reduction in volume of gases after reaction is 

1) 50 ml 

2) 60 ml 

3) 70 ml 

4) 10 ml 

 

 

 

7. capUs;s GijgbtkhfTk;> fz;lq;fSila 

cliyAk; nfhz;l tpyq;ifj; Nju;e;njLf;fTk;. 
1) ypKy]; 
2) ghk;gpf;]; 
3) Mg;nlupf;]; 
4) gpd;f;lhlh 

 

8. KJFehz; NghdW fOj;Jg;gl;il gFjpapy; xU 
mbg;gil mikg;igf; nfhz;l xU tpyq;fpd; 
fopTePf;f cWg;G> 
1) Njhy; ne/g;upbah 
2) GNuhNgh];rp]; Rug;gp 
3) czh;nfhk;G Rug;gp 
4) clw;fz;lk; gphpg;G Rth; ne/g;upbah 

 

9. nghUe;jhjijj; Nju;e;njLf;fTk;. 
Feature        Example 

1) ,Ugf;f rkr;rPu;   - Pterophyllum 

2) cwpQ;rpfs;    - / Fasciola 

3) Ctenoid nrjpy;fs;  - Scoliodon 

4) jdpj;J tho;f;if  - Asterias 

 

10. nfhLf;fg;gl;l $w;Wfisg; gbj;J> rupahdijj; 
Nju;e;njLf;fTk;. 
$w;W-A: irf;Nsh];Nlhk;fs; jhilfs; kw;Wk; 
N[hb JLg;Gfisf; nfhz;bUf;ftpy;iy. 

$w;W-B: midj;J kPd;fspd; nrTs;fs; nrTs; 
%bahy; %lg;gl;bUf;Fk; 
1) ,uz;L $w;WfSk; (A) kw;Wk; (B) rupahdit 

2) ,uz;L $w;WfSk; (A) kw;Wk; (B) jtwhdit 

3) $w;W (A) kl;LNk rupahdJ 

4) $w;W (B) kl;LNk rupahdJ 

 

11. 50 Ngdhf;fspy; Fwpg;gplj;jf;f Kf;fpa 
vz;ZUf;fspd; vz;zpf;if 

1) vy;iyaw;wJ 

2) 2 

3) Zero 

4) 1 

 

12. xU fpNyhfpuhk; vyf;l;uhd;fs; ___ Nkhy; 
vyf;l;uhd;fisf; Fwpf;fpwJ. (me = fpNyhtpy; xU 

vyf;l;uhdpd; epiw) 

1) 
N𝐴

𝑚𝑒
 

2) me NA 

3) 
1

𝑚𝑒N𝐴
 

4) 
𝑚𝑒

N𝐴
 

 

13. 20 kpy;yp O2 kw;Wk; 50 kpy;yp H2 xU fydpy; 
vLf;fg;gl;L> H2O(l) cUthFk; tiu tpid KbAk; 
tiu jPg;nghwp cUthtJ ntg;gepiy kw;Wk; 
mOj;jk; khwpyp vd;W fUjpdhy;> tpidf;Fg; gpwF 
FiwAk; thAf;fspd; fdmsT 

1) 50 ml 

2) 60 ml 

3) 70 ml 

4) 10 ml 
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14. Total number of atoms present in 11.2 ml of CO2 (g) 

at STP is 

1) 1.5 NA 

2) 1.5 x 10 –5 NA 

3) 1.5 x 10 –3 NA 

4) 150 NA 

 

15. Mass of CaCO3 required to react completely with 100 

mL of 0.5 M H2SO4 is 

1) 10 g 

2) 5 g 

3) 15 g 

4) 25 g 

 
16. A physical quantity P is related with four quantities a, 

b, c and d as follows: P = 
𝑎𝑏

𝑐5/2𝑑1/2
. The percentage 

error in the measurement of a, b, c and d are 1 %, 2%, 

3% and 4% respectively. The maximum percentage 

error in P is 

1) 23.5% 

2) 12.5% 

3) 16% 

4) 8% 

 

17. If mass m is expressed as m ∝ GahbCc. where  

G = Universal gravitation constant, h = Planck's 

constant. C = Speed of light, then 
𝑎2

𝑏𝑐
 is equal to 

1) 1/2 

2) 1 

3) 2 

4) 1/4 

 

18. Which of the following has dimensional formula same 

as time? 

(R=Resistance, L=Inductance, C= Capacitance) 

1) RC 

2) L/R 

3) √𝐿𝐶 

4) All of these 

 

19. Which of the following pair have same dimensional 

formula? 

1) Angular momentum and Planck's constant 

2) Impulse and Torque 

3) Energy and Surface Tension 

4) Specific gravity and density 

 

20. If density D, frequency F and velocity V are taken as 

fundamental quantities, then the dimensional formula 

for kinetic energy should be 

1) [DF–3V5] 

2) lD–2F2V–3l 

3) [D–3F5V] 

4) [DFV–3] 

 

 

14. STP ,y; 11.2 kpy;yp CO2 (g) ,y; cs;s mZf;fspd; 
nkhj;j vz;zpf;if 

1) 1.5 NA 

2) 1.5 x 10 –5 NA 

3) 1.5 x 10 –3 NA 

4) 150 NA 

 

15. 100 kpy;yp 0.5 M H2SO4 cld; KOikahf 

tpidGupa Njitahd CaCO3 epiw 

1) 10 g 

2) 5 g 

3) 15 g 

4) 25 g 

 

16. xU ,aw;gpay; msT P MdJ a, b, c kw;Wk; d Mfpa 
ehd;F msTfSld; gpd;tUkhW njhlu;GilaJ:  

P = 
𝑎𝑏

𝑐5/2𝑑1/2
. a, b, c kw;Wk; d Mfpatw;wpd; mstPl;by; 

rjtPj gpio KiwNa 1 %, 2%, 3% kw;Wk; 4% MFk;. 
P  ,y; mjpfgl;r rjtPj gpioahdJ 

1) 23.5% 

2) 12.5% 

3) 16% 

4) 8% 

 

17. epiw m vd;gJ m ∝ GahbCc Mf 

ntspg;gLj;jg;gl;lhy;. ,q;Nf G = cyfshtpa 

<u;g;G khwpyp> h = gpshq;fpd; khwpyp. C = xspapd; 

Ntfk;> vdpy;  
𝑎2

𝑏𝑐
 ,jw;F rkk; 

1) 1/2 

2) 1 

3) 2 

4) 1/4 

 

18. gpd;tUtdtw;wpy; Neuj;jpw;F ,izahd gupkhz 
tha;g;ghL vJ? 
(R=kpd;jil> L=kpd;J}z;ly; vz;> C= 

kpd;Njf;Fjpwd;) 
1) RC 

2) L/R 

3) √𝐿𝐶 

4) ,it midj;Jk; 
 

19. gpd;tUk; ve;j ,iz xNu gupkhz tha;g;ghL; 
nfhz;Ls;sJ? 
1) Nfhz ce;jk; kw;Wk; gpshq;fpd; khwpyp 
2) ce;Jtpir kw;Wk; jpUg;Gtpir 

3) Mw;wy; kw;Wk; Nkw;gug;G ,Otpir 

4) Fwpg;gpl;l <u;g;G kw;Wk; mlu;j;jp 
 

20. mlu;j;jp D> mjpu;ntz; F kw;Wk; Ntfk; V Mfpait 
mbg;gil msTfshf vLj;Jf; nfhs;sg;gl;lhy;> 
,af;f Mw;wYf;fhd gupkhz tha;g;ghL; ,Jthf 
,Uf;f Ntz;Lk; 
1) [DF–3V5] 

2) lD–2F2V–3l 

3) [D–3F5V] 

4) [DFV–3] 
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